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1. If 5x y   and 6xy   then the value of
3 3x y  is -

(1) 35 (2) 45
(3) 30 (4) 125

2. The coefficient of 49x  in the product of  1x 

 3x   5x   ....... ......  99x   is:

(1) 1 (2) -999
(3) -2990 (4) -2500

3.  6 34 4 2 2 2 2 k
m n m n m n mn   then value of K is:

(1) 6 (2) 3
(3) 2 (4) 1

4. A solid has how many  dimentions?
(1) One (2) Two
(3) Three (4) Four

MATHEMATICS
1- ;fn 5x y   vkSj 6xy    gS] rks 3 3x y  dk eku gksxk&

¼1½ 35 ¼2½ 45

¼3½ 30 ¼4½ 125

2-  1x    3x   5x   ....... ......  99x   ds xq.kuQy

esa 49x  dk xq.kkad gSA

¼1½ 1 ¼2½ &999

¼3½ &2990 ¼4½ &2500

3- ;fn  6 34 4 2 2 2 2 k
m n m n m n mn   rks K dk eku gSA

¼1½ 6 ¼2½ 3

¼3½ 2 ¼4½ 1

4- ,d Bksl ds fdrus vk;ke gksrs gS\

¼1½ ,d ¼2½ nks

¼3½ rhu ¼4½ pkj
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5. It is known  that if 10x y   then

10x y z z     Euclid's axioms that illustrates
this statement is :
(1) first Axiom (2) second Axiom
(3) third Axiom (4) fourth Axiom

6. Through which of the following points, the graph of
y = –x passes?
(1) (1, 1) (2) (0, 1)
(3) (–1, 1) (4) None of these

7. Find the value of m, if 3, 6x y  is the solutions

for equation 2x y m  ?

(1) 10 (2) 15
(3) 12 (4) 14

8. Which of the following is an axiom?
(1) Theorems
(2) Definitions
(3) The universal truth in all branches of Mathematics
(4) Universal truth specific to geometry

9. If 
1 3x x

a b

b a

 
      
   

 then the value of x  is :

(1) 1 (2) 2
(3) 3 (4) 4

10. The values of a and b in a linear equation

0ax by c    are:

(1) 0, 0a b  (2) 0, 0a b 

(3) 0, 0a b  (4) 1 0a and b 
11.  Which point lies to the right of y-axis?

(1) (0, 3) (2) (-2,-1)
(3) (3, 5) (4) (-3,-2)

12. What will be the abscissa of all the points on the
y-axis
(1) 1 (2) 0
(3) -1 (4) Any number

5- ;g Kkr gS fd ;fn 10x y   rks 10x y z z   
;wfDyM dk dkSulk vfHkx`fgr gS] tks bl dFku dks n'kkZrk gS

¼1½ igyk vfHkx`fgr ¼2½ nwljk vfHkx`fgr

¼3½ rhljk vfHkx̀fgr ¼4½ pkSFkk vfHkxf̀gr

6- fuEufyf[kr esa ls fdl fcanq ls gksdj y = –x dk xzkQ xqtjrk
gS\

¼1½ ¼1] 1½ ¼2½ ¼0] 1½

¼3½ ¼&1] 1½ ¼4½ buesa ls dksbZ ugha

7- m dk eku Kkr dhft, ] ;fn 3, 6x y  ] lehdj.k

2x y m  ds gy gS\

¼1½ 10 ¼2½ 15

¼3½ 12 ¼4½ 14

8- fuEufyf[kr esa ls dkSu lk ,d Lo;afl) gS\

¼1½ çes;

¼2½ ifjHkk"kk,¡

¼3½ xf.kr dh lHkh 'kk[kkvksa esa lkoZHkkSfed lR;

¼4½ T;kfefr ds fy, fof'k"V lkoZHkkSfed lR;

9- ;fn  
1 3x x

a b

b a

 
      
   

  rks xdk eku gSA

¼1½ 1 ¼2½ 2

¼3½ 3 ¼4½ 4

10- jS[kd lehdj.k 0ax by c    esa a vkSj bds eku gSA

¼1½ 0, 0a b  ¼2½ 0, 0a b 

¼3½ 0, 0a b  ¼4½ 1 0a and b 

11- dkSu lk fcanq y-v{k ds nkbZ vksj fLFkr gS\

¼1½ (0, 3) ¼2½ (-2,-1)
¼3½ (3, 5) ¼4½ (-3,-2)

12- y v{k ij lHkh fcUnqvksa dk Hkqt D;k gksxk\

¼1½ 1 ¼2½ 0

¼3½ &1 ¼4½ dksbZ Hkh la[;k
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13. In which Quadrant will the points Q (1,2), R (-2,-3)
and S (2,-3) lie?
(1) I Quadrant
(2) IV Quadrant
(3) III Quadrant
(4) Don't lie in the same Quadrant

14. If 
2 8 33 5

225 5

x

x



  then x  is equal to

(1) 3 (2) 5
(3) 15 (4) 14

15. If 5 2.236 10 3.162and   then the value of

15

10 20 40 5 80     is

(1) 6.398 (2) 3.398
(3) 5.398 (4) 4.398

16. The 10th  root of 1010300  is:

(1) 910300 (2) 109300

(3) 
9

10
300 (4) 

9
10

300

17. The rationalizing factor of 4 45 p q r   is:

(1) 3 3r (2) 3 24 p q

(3) 25 p qr (4) 45 pqr

18. The value of 
7.83 7.83 1.017 1.17

6.66

  
 is :

(1) 9 (2) 6.66
(3) 1.176 (4) 18

19. The fourth vertex of the parallelogram whose three
consecutive vertices are (8,8), (6,1) and (-1,1)
(1) (8,1) (4) (1,8)
(3) (-1,8) (4) (8,-1)

13- fcUnq Q (1,2), R (-2,-3) vkSj S (2,-3)fdl prqFkkaZ'k esa fLFkr
gS\

¼1½ izFke prqFkkZa'k ¼2½ f}rh; prqFkkZa'k

¼3½ r`rh; prqFkkZ'k ¼4½ ,d gh prqFkkZa'k esa fLFkr ugh gSaA

14- ;fn 
2 8 33 5

225 5

x

x



  rks x cjkcj gS&

¼1½ 3 ¼2½ 5

¼3½ 15 ¼4½ 14

15- ;fn 5 2.236  vkSj 10 3.162  rks

15

10 20 40 5 80     dk eku gS%

¼1½ 6-398 ¼2½ 3-398

¼3½ 5-398 ¼4½ 4-398

16- 1010300 dk nloka oxZewy gS%

¼1½ 910300 ¼2½ 109300

¼3½ 
9

10
300 ¼4½ 

9
10

300

17- 4 45 p q r  dk ;qfDrdj.k dkjd gS%

¼1½ 3 3r ¼2½ 3 24 p q

¼3½ 25 p qr ¼4½ 45 pqr

18-
7.83 7.83 1.017 1.17

6.66

  
dk eku gS%

¼1½ 9 ¼2½ 6-66

¼3½ 1-176 ¼4½ 18

19- lekarj prqHkqZt dk pkSFkk 'kh"kZ tgk¡ rhu dezkxr 'kh"kZ (8,8),
(6,1) vkSj  (-1,1) gS%
¼1½ (8,1) ¼2½ (1,8)
¼3½  (-1,8) ¼4½ (8,-1)
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20. Which of the following are not a surds?

(1) 9 (2) 3 13

(3) 4 25 (4) 6 32

21. Mirror image of point (-2,3) along x axis is :

(1) (-2,-3) (2) (2, -3)

(3) (2,3) (4) (-2, 3)

22. The system of equation  3 3 3 9a b and a b    is:
(1) Consistent (2) inconsistent

(3) Both (4) None of these

23.  If x + 2 is a factor of x3 – 2ax2 + 16, then value of a is

(1) 3 (2) 1

(3) 4 (4) 2

24. The degree of polynomial  is   2 1p x x x  

(1) 0 (2) 2

(3) 1 (4) 3

25. A surface of a shape has:

(1) length, breadth and thickness

(2) Length and breadth only

(3) Length and thickness only

(4) Breadth and thickness only

20- fuEufyf[kr esa ls dkSu dj.kh ugha gS\

¼1½ 9 ¼2½ 3 13

¼3½ 4 25 ¼4½ 6 32

21- x v{k ds vuqfn'k fcanq dk niZ.k izfrfcEc D;k gksxk\

¼1½  (-2,-3) ¼2½  (2, -3)

¼3½ (2,3) ¼4½  (-2, 3)

22- 3a b  vkSj 3 3 9a b   lehdj.kksa dh iz.kkyh gS&

¼1½ laxr ¼2½ vlaxr

¼3½ nksuks ¼4½ buesa ls dkbZ ugha

23- ;fn x + 2] x3-2ax2+16 dk ,d xq.ku[kaM gS] rks a dk eku gS

¼1½ 9 ¼2½ 5

¼3½ 1 ¼4½ 4

24- cgqin   2 1p x x x   dh ?kkr gksxh &

¼1½ 0 ¼2½ 2

¼3½  1 ¼4½ 3

25- ,d vkd`fr dh lrg esa gksrh gS&

¼1½ yackbZ] pkSM+kbZ vkSj eksVkbZ

¼2½ dsoy yackbZ vkSj pkSM+kbZ

¼3½ dsoy yackbZ vkSj eksVkbZ

¼4½ dsoy pkSM+kbZ vkSj eksVkbZ
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26. Among the following, which one is the false
statement?
(1) Sublimation is the process of conversion of a
matter from its liquid state to gaseous state at specific
conditions of temperature and pressure.
(2) Naphthalene, camphor, iodine, ammonium
chloride undergo sublimation.
(3) The melting point of ice is 0°C or 273.16 K
(4) Condensation is the process of conversion of
matter from its gaseous state to liquid state at specific
conditions of temperature and pressure.

27. Find out the incorrect increasing/decreasing order in
the following-
(1) Force of attraction Oxygen <water < sugar
(2) Increasing intermolecular space: Solids <liquids < gases
(3) Diffusion: Solid < liquid <gas
(4) Kinetic energy: Hydrogen > honey > water

28. Components of nucleus are:-
(1) Karyotheca, nucleolus, chromatin, nucleoplasm
and nuclear matrix
(2) Nuclear envelope, nucleolus and chromatin
(3) Nuclear envelope, nucleoplasm and chromatin
(4) All the above

29. What is the latest and most acceptable model of cell
membranes :-
(1) Lamellar model (2) Fluid mosaic model
(3)  Micellar model (4) Unit membrane concept

30. Nucleolus was discovered by:
(1) Robert Brown (2)  Leeuwenhoek
(3)  Robert Hooke (4) Fontana

31. Milk is a _______ solution while vinegar is a ______
solution.
(1) suspension, colloidal
(2) colloidal, suspension
(3) true, colloidal
(4) colloidal, true

SCIENCE
fuEufyf[kr esa ls dkSu lk dFku xyr gS\
¼1½ Å/kZ~oikru rkieku vkSj ncko dh fof'k"V fLFkfr;ksa
ij fdlh inkFkZ dks mldh rjy voLFkk ls xSlh;
voLFkk esa cnyus dh çfØ;k gS
¼2½ usQFkyhu] diwj] vk;ksMhu] veksfu;e DyksjkbM
Å/kZ~oikru ls xqtjrs gSa
¼3½ cQZ dk xyukad 0°C ;k 273.16 K gS
¼4½ la{ksi.k rkieku vkSj ncko dh fof'k"V fLFkfr;ksa ij
inkFkZ dks mlds xSlh; voLFkk ls rjy voLFkk esa
cnyus dh çfØ;k gS
fuEufyf[kr esa xyr] c<+rk ;k ?kVrk Øe Kkr dhft,&
¼1½ vkd"kZ.k cy v‚Dlhtuikuhphuh
¼2½ varj&vkf.od LFkku esa òf) % Bkslrjy inkFkZ  xSl
¼3½ çlkj.k Bksl   rjy   xSl
¼4½ xfrt ÅtkZ % gkbMªkstu  'kgn  ikuh
ukfHkd ds ?kVd gSa %&
¼1½ dSfj;ksFksdk] U;wfDy;ksyl] ØkseSfVu] U;wfDy;ksIykTe
vkSj U;wfDy;j eSfVªDl
¼2½ ijek.kq vkoj.k] U;wfDy;ksyl vkSj ØkseSfVu
¼3½ ijek.kq vkoj.k] U;wfDy;ksIykTe vkSj ØkseSfVu
¼4½ mijksä lHkh
dksf'kdk f>Yyh dk uohure ,oa lokZf/kd Lohdk;Z
e‚My D;k gS %&
¼1½ ySesyj e‚My ¼2½ æo ekstsd e‚My
¼3½ ekbZlsyj e‚My ¼4½ bZdkb f>Yyh vo/kkj.kk
U;wfDy;ksyl dh [kkst fdlds }kjk dh xbZ Fkh\
¼1½ j‚cVZ czkmu ¼2½ yhmosug‚d
¼3½ j‚cVZ gqd ¼4½ QksaVkuk
nw/k ,d ---------------- ?kksy gS tcfd fljdk ,d -------------
?kksy gSA
¼1½ fuyacu] dksykbMy
¼2½ dksykbMy] fuyacu
¼3½ lR;] dksykbMy
¼4½ dksykbMy] lR;
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32. The zig-zag movement of dispersed phase particle |
in a colloidal system is known as :
(1) Transitional motion
(2) Circular motion
(3) Linear motion
(4) Brownian motion

33. Foam is a colloidal solution of:
(1) Gaseous particles dispersed and gas
(2) Gaseous particle dispersion in liquid
(3) Solid particles dispersed in liquid
(4) Solid particles dispersed in gas

34. A solution in which more quantity of solute can be
dissolved without raising its temperature is called:
(1) unsaturated solution
(2) saturated solution
(3) super saturated solution
(4) concentrated solution

35. What is the term for the process by which cells
become specialized to perform specific functions ?
(1) Differentiation
(2) Mitosis
(3) Tissue repair
(4) Morphogenesis

36. A car travels from rest to a speed of 30 m/s in 6
seconds. What is the acceleration of the car, and what
distance does it travel during this time?
(1) 5 m/s², 90 m (2) 6 m/s², 120 m
(3) 7 m/s², 150 m (4) 8 m/s², 180 m

37. What is the theoretical framework of cellular
respiration?
(1) Glucose   ATP   Energygy
(2) Glucose   Energy   ATPTP
(3) ATP   Energy   Glucose
(4) Energy   ATP   Glucose

ifjf{kIr pj.k d.k dh Vs<+h&es<+h xfr dksykbMy ç.kkyh
esa bls dgk tkrk gS %
¼1½ laØe.kdkyhu xfr
¼2½ ifji= xfr
¼3½ jSf[kd xfr
¼4½ czkmfu;u xfr
Qkse ,d dksykbMy ?kksy gS %
¼1½ xSlh; d.kksa dk QSyko vkSj xSl
¼2½ xSl d.k QSyko rjy
¼3½ Bksl d.k rjy esa fc[kjs gq, gSa
¼4½ Bksl d.k xSl esa fc[kjs gq, gSa
og foy;u ftlesa fcuk rkieku c<+k;s foys; dh
vf/kd ek=k ?kksyh tk lds] dgykrk gS %
¼1½ vlar`Ir foys;
¼2½ larÌr foys;
¼3½ lqij lar`Ir foys;
¼4½ lkanz foys;
ml çfØ;k dks D;k dgrs gSa ftlds }kjk dksf'kdk,a
fof'k"V dk;Z djus ds fy, fof'k"V gks tkrh gSa\
¼1½ foHksnu
¼2½ ch½ ekbVksfll
¼3½ Ård dh ejEer
¼4½ eksQksZtsusfll
,d dkj fLFkjrk ls 6 lsdaM esa 30 ehVj@lsdsaM dh
xfr rd ;k=k djrh gSA dkj dk Roj.k D;k gS vkSj bl
nkSjku og fdruh nwjh r; djrh gS\
¼1½ 5 eh@ls] 90 eh ¼2½ 6 eh@ls] 120 eh
¼3½ 7 eh@ls] 150 eh ¼4½ 8 eh@ls] 180 eh
dksf'kdh; 'olu dk lS)kafrd <kapk D;k gS\
¼1½ Xywdkst ,Vhih ÅtkZ
¼2½ Xywdkst ÅtkZ ,Vhih
¼3½ ,Vhih ÅtkZ Xywdkst
¼4½ ÅtkZ ,Vhih Xywdkst
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38. What is the theoretical framework of Newton's Law
of Universal Gravitation?
(1) F = G * (m1 * m2) / r^2
(2) F = G * (m1 + m2) / r^2
(3) F = G * (m1 - m2) / r^2
(4) F = G * (m1 × m2) / r^2

39. What is the difference between velocity and speed?
(1) Velocity is scalar, speed is vector
(2) Velocity is vector, speed is scalar
(3) Velocity is distance, speed is displacement
(4) Velocity is acceleration, speed is deceleration

40. What is the term for the study of tissue structure and
function?
(1) Histology
(2) Embryology
(3) Anatomy
(4) Physiology

41. What is the main component of connective tissue?
(1) Collagen (2) Elastin
(3) Keratin (4) Actin

42. A force of 50 N acts on an object for 5 seconds. What is
the object's change in momentum?
(1) 25 kg m/s (2) 50 kg m/s
(3) 75 kg m/s (4) 250 kg m/s

43. Which of the following is a contact force?
(1) Frictional force (2) Normal force
(3) Tension force (4) All of the above

44. What is the force required to change the momentum
of an object?
(1) F = ma (2) F = mv
(3) F = p/t (4) F E 

45. Dry ice (solid carbon dioxide) is placed in a container
at room temperature. Which of the following will
occur?
(1) The dry ice will melt and then boil.
(2) The dry ice will melt and then freeze.
(3) The dry ice will sublime (change directly from solid
to gas) without melting.
(4) The dry ice will remain solid and unchanged.

U;wVu ds lkoZHkkSfed xq#Rokd"kZ.k ds fu;e dh lS)kafrd
:ijs[kk D;k gS\
¼1½ F = G * (m1 * m2) / r^2
¼2½ F = G * (m1 + m2) / r^2
¼3½ F = G * (m1 - m2) / r^2
¼4½ F = G * (m1 × m2) / r^2
osx vkSj xfr esa D;k varj gS\
¼1½ osx vfn'k gS] xfr lfn'k gS
¼2½ osx lfn'k gS] xfr vfn'k gS
¼3½ osx nwjh gS] xfr foLFkkiu gS
¼4½ osx Roj.k gS] xfr eanu gS
Ård lajpuk vkSj dk;Z ds v/;;u ds fy, D;k 'kCn
gksrk gS\
¼1½ Ård foKku ¼2½ Hkzq.kfoKku
¼3½ 'kjhj jpuk foKku ¼4½ 'kjhj fØ;k foKku
la;ksth Ård dk eq[; ?kVd D;k gS\
¼1½ dksystu ¼2½ bykfLVu
¼3½ dsjkfVu ¼4½ ,fDVu
50 N dk cy fdlh oLrq ij 5 lsdaM rd dk;Z djrk
gSA oLrq ds laosx esa ifjorZu D;k gS\
¼1½ 25 fdyks eh@ls ¼2½ 50 fdyks eh@ls
¼3½ 75 fdxzk eh@ls- ¼4½ 250 fdxzk eh@ls
fuEufyf[kr esa ls dkSu laidZ cy gS\
¼1½ ?k"kZ.k cy ¼2½ lkekU; cy
¼3½ ruko cy ¼4½ mijksä lHkh
fdlh oLrq dh xfr dks cnyus ds fy, vko';d cy
D;k gS\
¼1½ F = ma ¼2½ F = mv
¼3½ F = p/t ¼4½ F E 
lw[kh cQZ ¼Bksl dkcZu Mkbv‚DlkbM½ dks dejs ds
rkieku ij ,d daVsuj esa j[kk tkrk gSA fuEufyf[kr esa
ls D;k ?kfVr gksxk\
¼1½ lw[kh cQZ fi?ky tk,xh vkSj fQj mcy tk,xhA
¼2½ lw[kh cQZ fi?kysxh vkSj fQj te tk,xhA
¼3½ lw[kh cQZ fcuk fi?kys mnkÙk gks tk,xh ¼Bksl ls lh/kh
xSl esa cny tk,xh½A
¼4½ lw[kh cQZ Bksl vkSj vifjofrZr jgsxhA
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46. A container filled with water is placed in a warm, dry
desert. Which of the following will occur?

(1) The water will evaporate more quickly if the
container is covered.

(2) The water will evaporate more quickly if the
container is uncovered.

(3) The water will not evaporate at all.

(4) The water will freeze.

47. What is the main purpose of the condenser in a
distillation apparatus?

(1) To heat the mixture

(2) To cool and condense the vapor

(3) To separate the components based on density

(4) To measure the volume of the distillate

48. Which type of cell division results in four daughter
cells, each with half the number of chromosomes as
the parent cell?

(1) Mitosis (2) Meiosis

(3) Binary fission (4) Endomitosis

49. What is the main function of epithelial tissue?

(1) To provide support and structure

(2) To facilitate movement

(3) To regulate body temperature

(4) To form a barrier against external factors

50. Which type of tissue is responsible for transmitting
nerve impulses?

(1) Epithelial tissue (2) Connective tissue

(3) Muscular tissue (4) Nervous tissue

ikuh ls Hkjk ,d ik= xeZ] 'kq"d jsfxLrku esa j[kk x;k
gSA fuEufyf[kr esa ls D;k ?kfVr gksxk\
¼1½ ;fn daVsuj dks <d fn;k tk, rks ikuh vf/kd rsth
ls okf"ir gks tk,xk
¼2½ ;fn daVsuj [kqyk gS rks ikuh vf/kd rsth ls okf"ir
gks tk,xk
¼3½ ikuh fcYdqy Hkh okf"ir ugha gksxk
¼4½ ikuh te tk,xk
vklou midj.k esa daMsulj dk eq[; mís'; D;k gS\
¼1½ feJ.k dks xeZ djus ds fy,
¼2½ ok"i dks BaMk vkSj la?kfur djus ds fy,
¼3½ ?kuRo ds vk/kkj ij ?kVdksa dks vyx djuk
¼4½ vklqr dh ek=k dks ekius ds fy,
fdl çdkj ds dksf'kdk foHkktu ds ifj.kkeLo:i pkj
larfr dksf'kdk,¡ curh gSa] ftuesa ls çR;sd esa ewy
dksf'kdk dh rqyuk esa xq.klw=ksa dh vk/kh la[;k gksrh gS\
¼1½ lelq=h foHkktu ¼2½ v/kZlw=hfoHkktu
¼3½ ckbujh fo[kaMu ¼4½ ,aMksfeVksfll
midyk Ård dk eq[; dk;Z D;k gS\
¼1½ lgkl vkSj lajpuk çnku djuk
¼2½ xfr dks lqfo/kktud cukus ds fy,
¼3½ 'kjhj ds rkieku dks fu;af=r djus ds fy,
¼4½ ckgjh dkjdksa ds f[kykQ ck/kk mRiUu djuk
fdl çdkj dk Ård raf=dk vkosxksa dks çlkfjr djus
ds fy, ftEesnkj gS\
¼1½ midyk Ård ¼2½ la;ksth Ård
¼3½ ekalis'kh Ård ¼4½ raf=dk Ård
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SOCIAL SCIENCE
51. Name the tax that was extracted by the church from

peasants .

(1) Livre (2) Tithe

(3) Taille (4) Manor

52. Which term is used to describe the society of France
before 1789 ?

(1) Old regime (2) Subsistence crisis

(3) Livre (4) Clergy

53. Which of the following factor help Napoleon rise.

(1) Fall of Jacobin government

(2) Robespierre reign of terror

(3) Political instability of the directory

(4) Nationalist forces

54. Who associate with April Theses ?

(1) Stalin (2) Lenin

(3) Karl Marx (4) Robert Owen

55. When did socialist take over the government in
Russia?

(1) October revolution 1917

(2) November revolution 1917

(3) February revolution 1920

(4) December revolution 1919

56. What is the main aim of the government's
employment generation programs in Palampur?

(1) To provide subsidies to farmers

(2) To create job opportunities in the village

(3) To promote urban migration

(4) To increase the GDP of the village.

ml dj dk uke crkb;s tks ppZ }kjk fdlkuksa ls olwyk
tkrk Fkk\

¼1½ fyojs ¼2½ n'keka'k

¼3½ Vsyys ¼4½ euksj

1789 ls igys Ýkal ds lekt dk o.kZu djus ds fy,
fdl 'kCn dk ç;ksx fd;k tkrk Fkk\

¼1½ iqjkuk 'kklu ¼2½ fuokZg ladV

¼3½ fyojs ¼4½ iknjh

fuEufyf[kr esa ls dkSu lk dkjd usiksfy;u dks vkxs
c<+us esa enn djrk gS\

¼1½ tSdksfcu ljdkj dk iru

¼2½ jkscsfLi,js dk vkrad dk 'kklu

¼3½ funsZf'kdk dh jktuhfrd vfLFkjrk

¼4½ jk"Vªoknh rkdrsa

dkSu vçSy Fkhfll ls tqM+s gSa\

¼1½ LVkfyu ¼2½ ysfuu

¼3½ dkyZ ekdZ~l ¼4½ j‚cVZ vksosu

:l esa lektokfn;ksa us lÙkk dc laHkkyh\

¼1½ vDVwcj Økafr 1917

¼2½ uoacj Økafr 1917

¼3½ Qjojh Økafr 1920

¼4½ fnlacj Økafr 1919

ikyeiqj esa ljdkj ds jkstxkj l`tu dk;ZØeksa dk
eq[; mís'; D;k gS\

¼1½ fdlkuksa dks lfClMh çnku djuk

¼2½ xk¡o esa jkstxkj ds volj iSnk djuk

¼3½ 'kgjh çokl dks c<+kok nsuk

¼4½ xk¡o dh thMhih c<+kukA
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57. Which of the following factors is NOT considered a
component of human resource development?

(1) Education and skill development

(2) Health and well-being

(3) Social and cultural factors

(4) Availability of financial resources.

58. Which of the following is NOT a feature of a
democratic government?

(1) Rule of law

(2) Universal adult franchise

(3) Centralized decision-making

(4) Respect for minority rights

59. What is the role of the judiciary in a democracy?

(1) To pass laws and make policies

(2) To represent the interests of the ruling party

(3) To provide justice and protect the rights of citizens

(4) To enforce military rule

60. What is the role of civil society organizations in a
democracy?

(1) To enforce laws and maintain order in society

(2) To provide social services to citizens

(3) To represent the interests of political parties

(4) To promote citizen engagement, advocate for
public issues, and ensure government

61. What is the role of civil society organizations in a
democracy?

(1) To enforce laws and maintain order in society

(2) To provide social services to citizens

(3) To represent the interests of political parties

(4) To promote citizen engagement, advocate for
public issues, and ensure government accountability

fuEufyf[kr esa ls dkSu lk dkjd ekuo lalk/ku fodkl
dk ?kVd ugha ekuk tkrk gS\
¼1½ f'k{kk vkSj dkS'ky fodkl
¼2½ LokLF; vkSj dY;k.k
¼3½ lkekftd vkSj lkaL—frd dkjd
¼4½ foÙkh; lalk/kuksa dh miyC/krkA
fuEufyf[kr esa ls dkSu yksdrkaf=d ljdkj dh fo'ks"krk
ugha gS\
¼1½ dkuwu dk 'kklu
¼2½ lkoZHkkSfed o;Ld erkf/kdkj
¼3½ dsaæh—r fu.kZ; ysuk
¼4½ vYila[;d vf/kdkjksa dk lEeku
yksdra= esa U;k;ikfydk dh D;k Hkwfedk gS\
¼1½ dkuwu ikfjr djuk vkSj uhfr;ka cukuk
¼2½ lÙkk:<+ ny ds fgrksa dk çfrfuf/kRo djuk
¼3½ U;k; çnku djuk vkSj ukxfjdksa ds vf/kdkjksa dh
j{kk djuk
¼4½ lSU; 'kklu ykxw djus ds fy,
yksdra= esa ukxfjd lekt laxBuksa dh D;k Hkwfedk gS\
¼1½ dkuwuksa dks ykxw djuk vkSj lekt esa O;oLFkk cuk,
j[kuk
¼2½ ukxfjdksa dks lkekftd lsok,a çnku djuk
¼3½ jktuhfrd nyksa ds fgrksa dk çfrfuf/kRo djuk
¼4½ ukxfjd lgHkkfxrk dks c<+kok nsuk] lkoZtfud eqíksa
dh odkyr djuk vkSj ljdkj lqfuf'pr djuk
yksdra= esa ukxfjd lekt laxBuksa dh D;k Hkwfedk gS\
¼1½ dkuwuksa dks ykxw djuk vkSj lekt esa O;oLFkk cuk,
j[kuk
¼2½ ukxfjdksa dks lkekftd lsok,a çnku djuk
¼3½ jktuhfrd nyksa ds fgrksa dk çfrfuf/kRo djuk
¼4½ ukxfjd lgHkkfxrk dks c<+kok nsuk] lkoZtfud eqíksa
dh odkyr djuk vkSj ljdkj dh tokcnsgh lqfuf'pr
djuk
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62. Which of the following countries does NOT have a
written constitution?

(1) India (2) United States

(3) United Kingdom (4) France

63. The Constitution of India guarantees the right to
equality under:

(1) Article 14 (2) Article 19

(3) Article 21 (4) Article 25

64. Which part of the Indian Constitution deals with the
Directive Principles of State Policy?

(1) Part II (2) Part III

(3) Part IV (4) Part V

65. The Tropic of Cancer passes through which Indian
states?

(1) Rajasthan, Gujarat, and Mizoram

(2) Rajasthan, Maharashtra, and Assam

(3) Madhya Pradesh, Maharashtra, and West Bengal

(4) Uttar Pradesh, Gujarat, and Arunachal Pradesh

66. The Indian Standard Time is ahead of Greenwich Mean
Time by how many hours?

(1) 4 hrs 45 mins (2) 5 hrs 30 mins

(3) 6 hrs 15 mins (4) 7 hrs15 mins

67. The easternmost longitude of India is:

(1) 97° 25' E (2) 82° 30' E

(3) 68° 7' E (4) 77.6 E

68. The highest peak in India is:

(1) Mount Everest (2) Kangchenjunga

(3) Nanda Devi (4) none of these

fuEufyf[kr esa ls fdl ns'k dk dksbZ fyf[kr lafo/kku
ugha gS\

¼1½ Hkkjr ¼2½ la;qä jkT; vesfjdk

¼2½ ;wukbVsM fdaxMe ¼4½ Ýkal

Hkkjr dk lafo/kku lekurk ds vf/kdkj dh xkjaVh nsrk
gS %

¼3½ vuqPNsn 14 ¼2½ vuqPNsn 19

¼4½ vuqPNsn 21 ¼4½ vuqPNsn 25

Hkkjrh; lafo/kku dk dkSu lk Hkkx jkT; ds uhfr
funs'kd fl)karksa ls lacaf/kr gS\

¼1½ Hkkx II ¼2½ Hkkx III

¼3½ Hkkx IV ¼4½ Hkkx V

ddZ js[kk Hkkjr ds fdu jkT;ksa ls gksdj xqtjrh gS\

¼1½ jktLFkku] xqtjkr vkSj fetksje

¼2½ jktLFkku] egkjk"Vª vkSj vle

¼3½ e/; çns'k] egkjk"Vª vkSj if'pe caxky

¼4½ mÙkj çns'k] xqtjkr vkSj v#.kkpy çns'k

Hkkjrh; ekud le; xzhufop ehu Vkbe ls fdrus ?kaVs
vkxs gS\

¼1½ 4 ?kaVs 45 feuV ¼2½ 5 ?kaVs 30 feuV

¼3½ 6 ?kaVs 15 feuV ¼4½ 7 ?kaVs15 feuV

Hkkjr dk lcls iwohZ ns'kkarj gS:

¼1½ 97º 25'E ¼2½ 82º30' E

¼3½ 68º7 'E ¼4½ 77.6E

Hkkjr dh lcls Å¡ph pksVh gS %

¼1½ ekmaV ,ojsLV ¼2½ daputaxk

¼3½ uank nsoh ¼4½ buesa ls dksbZ ugh
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69. Which of the following is the oldest mountain range
in India?

(1) Aravalli Range (2) Western Ghats

(3) Eastern Ghats (4) Himalayas

70. ___________ is known as the "Land of Five Rivers" in
India.

(1) Punjab (2) Haryana

(3) Uttar Pradesh (4) Bihar

fuEufyf[kr esa ls dkSu lh Hkkjr dh lcls iqjkuh ioZr
J̀a[kyk gS\

¼1½ vjkoyh jsat ¼2½ if'peh ?kkV

¼3½ iwohZ ?kkV ¼4½ fgeky;

 ---------------- dks Hkkjr esa ^^ikap ufn;ksa dh Hkwfe** ds :i esa
tkuk tkrk gSA

¼1½ iatkc ¼2½ gfj;k.kk

¼3½ mÙkj çns'k ¼4½ fcgkj
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ENGLISH
71. Select the most appropriate indirect form of the given

sentence. Anurag said to Priti, " I have lived in
Kanpur."

(1) Anurag told Priti that he had liven in Kanpur.

(2) Anurag told Priti that he had live in Kanpur.

(3) Anurag told Priti that he had lived in Kanpur.

(4) More than one of the above

72. Which pronoun change is correct in reported speech?

(1) "I" changes to "he."

(2) "They" changes to "we."

(3) "You" changes to "she."

(4) "He" changes to "it."

73. Which sentence represents reported speech?

(1) "Stop!" she shouted.

(2) She shouts, "Stop!"

(3) She shouted to stop.

(4) She shouted, "Stop!"

74. I'm tired. I _______ to bed now.

(1) go (2) am going

(3) goes (4) have gone

75. I think I _______ have failed the test, but I'm not sure.

(1) ought to (2) might

(3) shall (4) none

76. We have to rush. We ______ miss the last bus to home.
(1) needn't (2) couldn't

(3) mustn't (4) none

77. If you had let me know earlier, I _______ have been
able to come.

(1) would (2) will

(3) shall (4) None

78. Fill in the blanks in the following sentences with the
help of options that follow.

A yellow and a blue toy __________ desired by a kid
who was all alone.

(1) were (2) are

(3) was (4) More than one of the above

79. Select the most appropriate option to fill in the blank.

Plenty of information about the flora and fauna of
India _________ available in this book

(1) are (2) has

(3) is (4) More than one of the above

80. Select the option that will improve the underlined
part of the given sentence. In case no improvement
is needed, select 'No improvement required'.

Many a man has succumbed to his temptations.

(1) No improvement required

(2) man has

(3) a men have

(4) men has

81. He exclaimed with joy that India had won the Sahara
Cup.

(1) He said, "India has won the Sahara Cup"

(2) He said, "India won the Sahara Cup"

(3) He said, "How! India will win the Sahara Cup"

(4) He exclaimed that it was a very cold day.
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82. The man said, "No, I refused to confess guilt."

(1) The man emphatically refused to confess guilt.

(2) The man refused to confess his guilt.

(3) The man told that he did not confess guilt.

(4) The man was stubborn enough to confess guilt.

83. Choose the form of tenses for the given sentence:

My dad fell asleep while he ______.

(1) has been reading the newspaper

(2) had been reading the newspaper

(3) was reading the newspaper

(4) More than one of the above

84. Select the most appropriate option to fill in the blank.

She _______ her daughter to school before she goes
to work.

(1) takes (2) taking

(3) has taken (4) took

85. The Earth ________________ around the sun.

(1) is go (2) go

(3) goes (4)has gone

86. I ______________ tennis every weekend.

(1) played (2) play

(3) plays (4) am playing

87. Choose the correct form of the verb that is in
agreement with the subject:

The proceeds from the sale ______ to support the
homeless population in the city and each of the sales
______ important.

(1) go, were (2) go, is

(3) goes, were (4) More than one of the above

88. Fill in the blank with the correct option:

Ram as well as his brothers _________ coming today.

(1) are (2) were

(3) is (4) have been

89. Fill in the blank with the most appropriate word.

This is one of the matters that ______ me the most.

(1) has disturb (2) are disturbing

(3) disturb (4) is disturbed

90. My friend, a philosopher and guide ______ going
abroad.

(1) are (2) is

(3) am (4) being
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MAT
91. If DEER = 12215 and HIGH = 5645, how will you code

HEEL?
(1) 2328 (2) 3449
(3) 4337 (4) 5229

92. Arrange these letters of each group to make
meaningful word and then find the odd one out.
(1) VEENS (2) VIDEID
(3) ORFU (4) GHIET

93. Find the next term of the given number series 24, 340
2194, 6856, ...........
(1) 23892 (2) 24386
(3) 18926 (4) 22445

94. Find the analogous pair missing code
DCAB : ZYWX : :  GHEF : ?
(1) DEBC (2) UVTS
(3) VUST (4) WXUV

95. Vivek and Ashok start from a fixed point. Vivek moves
3 km north and turns right and then covers 4km.  Ashok
moves 5km west and turns right and walks  3 km, now
how far are they a part?
(1) 10 km (2) 9 km
(3) 8 km (4) 6 km

96. Which of the following scts is best represented in the
given diagram?

(1) Animals, Insects, Cockroaches
(2) Males, Females and herma phrodites
(3) States, Districts, Union Territories
(4) Country, States, Districts

;fn DEER = 12215 vkSj HIGH = 5645 gS] rks vki HEEL
dks dSls dksfMr djsaxs\
¼1½ 2328 ¼2½ 3449
¼3½ 4337 ¼4½ 5229
lkFkZd 'kCn cukus ds fy, çR;sd lewg ds bu v{kjksa dks
O;ofLFkr djsa vkSj fQj cstksM+ 'kCn pqusaA
¼1½ ohUl ¼2½ ohfM;ksM
¼3½ vksvkj,Q;w ¼4½ ?khV
nh xbZ la[;k J`a[kyk 24] 340 2194] 6856] ----------- dk
vxyk in Kkr dhft,A
¼1½ 23892 ¼2½ 24386
¼3½ 18926 ¼4½ 22445
vuq:i ;qXe esa yqIr dksM Kkr dhft,
DCAB : ZYWX : :  GHEF : ?
¼1½ DEBC ¼2½ UVTS
¼3½ VUST ¼4½ WXUV
foosd vkSj v'kksd ,d fuf'pr fcanq ls çkjaHk djrs gSaA
foosd 3 fdeh mÙkj dh vksj pyrk gS vkSj nk,¡ eqM+rk
gS vkSj fQj 4 fdeh pyrk gSA  v'kksd 5 fdeh if'pe
dh vksj pyrk gS vkSj nk,a eqM+rk gS vkSj 3 fdeh pyrk
gS] vc os fdruh nwj dk fgLlk gSa\
¼1½ 10 fdeh ¼2½ 9 fdeh
¼3½ 8 fdeh ¼4½ 6 fdeh
fn, x, vkjs[k esa fuEufyf[kr esa ls dkSu lk ,llhVh,l
lcls vPNk n'kkZ;k x;k gS\

¼1½ tkuoj] dhM+s] frypês
¼2½ uj] eknk vkSj gekZ ÝksMkbV
¼3½ jkT;] ftys] dsaæ 'kkflr çns'k
¼4½ ns'k] jkT;] ftys
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97. Four form of a dice are shown below in this dice which
digit will be on the surface opposite to the digit 4?

(1) 6 (2) 3
(3) 1 (4) 5

98. Two years age a mother was 4 times as old as her son,
six years from now her age will become more than
double her son's age by 10years. What is the present
ratio of their ages?
(1) 2 : 1 (2) 38 : 11
(3) 19 : 7 (4) 3 : 1

99. The Population of a city doubles every 7 years If in
2009 population is 12483, by which year population in
creases by 49932?
(1) 2016 (2) 2030
(3) 2023 (4) 2037

100. Choose the next term for the given number series.
10, 100, 200, 310?
(1) 400 (2) 410
(3) 420 (4) 430

bl ikls esa uhps ,d ikls ds pkj :i fn[kk, x, gSa]
vad 4 ds foijhr lrg ij dkSu lk vad gksxk

¼1½ 6 ¼2½ 3
¼3½ 1 ¼4½ 5
nks o"kZ dh mez esa ,d ek¡ vius csVs ls 4 xquk cM+h Fkh]
vc ls Ng o"kZ ckn mldh mez mlds csVs dh mez ls 10
o"kZ nksxquh ls vf/kd gks tk,xhA mudh vk;q dk orZeku
vuqikr D;k gS\
¼1½ 2 % 1 ¼2½ 38 % 11
¼3½ 19 % 7 ¼4½ 3 % 1
,d 'kgj dh tula[;k gj 7 lky esa nksxquh gks tkrh
gS ;fn 2009 esa tula[;k 12483 Fkh] rks fdl o"kZ
tula[;k esa 49932 dh òf) gqbZ\
¼1½ 2016 ¼2½ 2030
¼3½ 2023 ¼4½ 2037
nh xbZ la[;k J̀a[kyk ds fy, vxyk in pqusaA
10] 100] 200] 310\
¼1½ 400 ¼2½ 410
¼3½ 420 ¼4½ 430


